\/

“r N
nvent
HOFFMAN

Ref. Pic. Qty.

# # O 0 MCU
T30 T25 Sw10 Sw13 A '(@ M12x20 | 4
; B ﬁ M12 | 4
Torque ¢ Torque c @ M8 | 4

10-15Nm o
D M8 | 4
E % M8x16 | 4
F| Y% Mex12 | 2
G | 45x8 | 6M
Only for MCU=1000 wide

Ref. Pic. Qty.
H M5x10 | 6
M6x12 | 4
J 4
K 2
L 2

2

Only for MCU=1000 wide

oz
A

I The gasket must be fixed

outside the corner holes!

1/2

7697031301, Rev.3




‘\ /
nvent
HOFFMAN

% || lm‘ ﬁ N Bayed variant for MCU

T25

CCI06 brackets must be ordered separately
ALTERNATIVE FIXATION WITH CNTO5(*to be ordered separately)

[ \ )

0 g [

\Wao:

of [|[e.

P
© fe

W7ol 7ef 7o/
e, R

I 7ol 7277
S

G
eof /2] ]

AR o), CASSEES

0

)

SEASEASEASETS,
=

Torque
4,5-5Nm

2/2 7697031301, Rev.3



	MCU MI_1_updated
	Sheet1
	Drawing View16
	Detail View  (2 : 15)
	Drawing View32


	MCU MI_2

